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Lol Lol oo vFE =423
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436,398.3 2,839,270.0 154% 7 == & 20z
1,176542.2 4,544,570.0 25.9% 7 == F 10z
650,581.9 2,185,980.0 29.8% 47 EF B 7=
51,7%6.1 703900.0 21.6% 71 == F 139
262214 98,600.0 26.6% 4971 E= F 8
48537.9 711,200.0 6.8% 471 E= 5 1929
11,782.3 711,200.0 15.7% 401 2= F 19z
105,038.8 4374350 24.0% 71 2= 5 1z
£5,561.0 72,947.6 89.9% 74 2= 5 129
75,656.0 2229930 33.9% 474 E= & 59
173753 96,085.1 18.1% 0 2= & 174
A= 70,782.0 142,717.0 49.6% 474 2= & 39
198,933.9 754,400.0 26.4% 47 == & 9
6,116.9 28,357.0 216% 7 == & 12z
47269.6 237,300.0 19.9% 497 == & 15T
343460.8 894,026.0 384% 47 EF F 4
23367.7 71,600.0 32.6% 4971 E= & 6T
26,79%4.3 157,300.0 17.0% 47 E= 5 1824
1447 13900.0 53.3% 474 E= 5 29
187,980.5 951,000.0 19.8% 0 2= 5 16z
17,094.1 80,506.1 21.2% 01 2= F 144
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- FUAE HRE0] =tk A2 o - SFTA A2 e 32 S8 =0l & 4 U3
- A8 1059 S32 85 - EF, SMEY), 20014, S0IHMA, A=A, tha), &, AES0[HA,
DA, StiF - JsilF =22 &4, 5, d2/iasw, YLz, BRI £2 013
E17] 2 348 +dME Hre
e MIAZY Z3/MA
=85 =3Y =Y = =Y = T RE | TUAERE =AA
(&) (T9) (&) (H9$) (%, 227|F) | (%,a3U7]F)
ot} 17.802.0 10,081.0 18,331.0 10,701.0 97.1% U21%| 4974 E= = 1329
cf o} 190040 214110 19,1140 215020 99.42% 958%| 4974 2 & 6=
21} 14060 699.0 1456.0 842.0 96.57% 83.02%| 4974 E= = 1929
ol 5 26180 107350, 238710 112130 94.75% 95.74%| 4974 E= = 1129
=R 6,189.0 19520 6,324.0 20160 97.87% 96.83%| 4974 E= = 10=¢
VLR 6,189.0 19520 6,324.0 20160 97.87% 96.83%| 4974 E= = 10=¢
Al 4,596.0 3680.0 55840 46050 82.31% 7991%| 4970 £= & 2029
22 20,4430 75300 204430 75320]  10000%|  10000%| 4974 Z= & 129
Jeg 20,4430 75300 204430 75320 10000%|  100.00%| 4974 E= = 129
e = 302730  435110] 393800 437070 99.73% 9955%| 494 E= 5 724
245084 9451.0 13,1020 9,457.0 13,1620 99.94% 9054%| 4 E= 5 89
£o|u4 501.0 74380 502.0 74510 99.80% 9.83%| 4H E= = 429
EIHA 126960  33607.0 126960, 336100,  100.00% 9099%| 47 Z= = 329
InkS 2057800 1626560  2179010] 1745920 94.44% 93.16%| 4974 E= & 1429
A2 12420 901.0 12430 904.0 99.92% 9067%| 4 E= 5 529
TAR| 36180 233320 36380 234730 99.45% 90.40%| 497 E5 5 9=
170} 240710(  276090| 267450 305430 90.00% 90.39%| 4970 £= = 1629
M2 3,760.0 25140 37720 2,626.0 99.68% 95.73%| 490 £= = 1229
W3 284820|  544370| 320930 639640 88.75% 85.11%| 4970 £= = 1829
exs SN 265570  336790| 265570 336790  10000%|  100.00%| 494 E= F 229
ol A} 91.0 28860 9.0 33000 95.79% 87.45%| 4974 £= = 1729
337 23} 13680 1,199.0 14220 1,309.0 96.20% 91.60%| 4974 £= = 1529
T 120119 7o R FARE FeolBE 20119s AFE AHHAe] dFde BTl 55 5 5= 8
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LAt 1,363 33 11413 375 033 O E= 3 14=el
EDiE 3406 %9 1,0494 449 207 o4 2= F 1129
ok 518 1402 1,389 370 165 O 2= F 16z
CHt 1,592 245 1,284.7 6.50 025 I 2= & 8=¢
T AF 3733 433 %18 862 147 I E= & 322
=7 767 206 4208 37 190 N 2= & 1524
eR 767 206 4208 37 205 o) 5 5 1552
20| 2186 439 5252 498 2.74 4 = 3 102
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MES 15205 3847 9150 3% 1482 9 E= F 1324
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AR 27| 5212 1435 18474 363 28 N 2= & 18
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S Ea 3831 912 7950 420 361 N 2= & 124
T 556 834 061.2 6.6 758 o £% 5 7=%
=% o3 6,147 1,762 22/6.1 349 062 o £ 5 =2
Sl 17,1% 2431 18275 703 73 W E= = 69




=58 SH 7IE A28
= AAH HE= A2E | A AEE
59 Ty TEY Ty TEY | T BHIIE |MAEH 7IE =42
() (Z) (E) (E) (%) (%)

b= 40,516.0 00 786200 1130 275.9% 4408%| 494 Z= & 10=4
it 17,802.0 720 18,331.0 7770 2139% 2128%| 49K 2= & 12z
CH 19,004.0 00 19,1140 120 236.6% 287.3%| 49 2= & 1=
o4F 45%.0 00 5,584.0 20 135.8% 1435%| 490 2= & 184l
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27t 20823 37643 23% 269% 199 22 5 1329
ots 262300 36,0828 369% 37.2% 197 22 5 1029
ot} 26,0053 12,6355 18.2% 36.0% 199 22 5 1129
v 16,195.0 75733 1937% 77.3% 1974 22 3 529
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eS| 180512 4805622 100

e 07| 154207 6265518 243
Sof 4,765,454 4,765,454 1000
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52184 A
[FE_H1] 2 E54 M3 o] 39 A2(HY, 44 85
34 = M=
=39 WIS YLkes WEIISES! Yo MejHAE|S | MM HF =M Zn
(ha (&,012,8=) (ha) (&,0H2,8 =) (%) (%)

417 453,366.0 2,949664.0 15.4% 154%

] 2,115,382.0 8,170,979.0 25.9% 259%| 4974 EZ & 84
SR 44.496,910.0 149,511,309.0 29.8% 20.8%| AP E= & 5+
LA 3,049.0 £5,946.0 26,804.0 622,230.0 11.4% 10.6%

EOtE 1,217.0 70,026.0 5,270.0 324,806.0 23.1% 21.6%| 474 E= & 10=¢
oHs 2,072.0 23,0340 22,4140 271,559.0 9.2% 8.5%
it 390.0 15,560.0 22,976.0 1,520,020.0 1.7% 1.0%

CH ot 616.0 139130 11,161.0 305,289.0 5.5% 4.6%
Zut 1,343.0 29,769.0 5,15%6.0 111,940.0 26.0% 266%| AP E= F 7+

2= 6,767.0 339,000.0 0.0% 0.0%
= F 678.0 31,303.0 9,801.0 458,666.0 6.9% 6.8%

UL ks 2,058.0 186,698.0 13,540.0 1,187,841.0 15.2% 15.7%

AF 490.0 12,821.0 46910 116,808.0 10.4% 11.0%
=7 969.0 294600 12,2570 510,733.0 7.9% 58%

es 1,139.0 59,916.0 74730 473,230.0 15.2% 12.7%

20| 822.0 72951.0 45400 303,805.0 18.1% 24.0%

= 209.0 236.0 3,650.0 3:8%.0 5.7% 6.1%
LSl AM 108.0 20,343.0 1250 22,6350 86.4% 89.9%| 4P E= & 154

00%

EOHA 560.0 1,624.0 4876.0 5591.0 11.5% 29.0%

LER2[H A 480 8,172.0 2150 45191.0 22.3% 18.1%
uF 4,761.0 9,930.0 44.584.0 95,392.0 10.7% 10.4%

Alg*| 1370 2,289.0 5351.0 87911.0 2.6% 26%
oY 681.0 28,1740 8,970.0 302,868.0 7.6% 9.3%

DA 363.0 2775 9,089.0 55179 4.0% 50%
7ot 2,900.0 36,000.0 18,040.0 255,284.0 16.1% 14.1%
gt 16,773.0 276850 78,031.0 64,586.0 21.5% 42.9%
L 1,363.0 20,502.0 17,4450 269,150.0 7.8% 7.6%
T8 3,790.0 179,001.0 16,396.0 678,810.0 23.1% 264%| AP EZ T 9=
a4z 4570 71,7720 1,706.0 36,030.0 26.8% 21.6%| 4974 E= & 6
Azt 1,632.0 21664.0 30,9920 460,285.0 5.3% 4.7%
il 2,786.0 61,317.0 16,239.0 307,820.0 17.2% 19.9%
=50t 638.0 9,268.0 13,908.0 138,580.0 4.6% 6.7%
27 2,305.0 £5,893.0 5816.0 171,519.0 39.6% BA%| 44 EZ 5 3=
42 7180 8,149.0 2,085.0 24.969.0 34.4% R6%| A EZ F 479
e 163.0 383.0 29,054.0 75,520.0 0.6% 0.5%
o 152,947.0 805,139.0 853,823.0 5615916.0 17.9% 14.3%
o+ 6,000.0 9,000.0 77,849.0 129,394.0 7.7% 7.0%
03 771.0 1,827.0 5,381.0 13939.0 14.3% 13.1%
I 2,066.0 963.0 25,649.0 9,515.0 8.1% 10.1%

SHAL) 59510 57720 33,376.0 33,936.0 17.8% 17.0%

TR 118.0 3750 259.0 7030 45.6% 53.3%| 4974 EZ & 2&¢

ol 4t 3,302.0 52850 17,601.0 26,737.0 18.8% 19.8%
o 16.0 50140 214.7 58,427.0 75% 8.6%
o] 24.0 16,7230 4183 228,788.0 5.7% 7.3%
=) 46.0 5,538.0 2125 32,502.0 21.6% 17.0%
g 1.3 1390 62.6 4.279.0 2.1% 32%
=2} 94.0 38,394.0 575.0 292,09%6.0 16.3% 13.1%

Molg 1.0 486.0 68.5 22,1430 1.5% 2.2%




Bl ol A=
==Y YLl Lk YLl H|F =MZD
(BHOH) (BHOHR) (%)
417 436,398.3 2,839,270.0 154%
x| 27| 1,176,542.2 4,544,570.0 25.9% 2= 3 104
17 650,581.9 2,185,980.0 29.8% == 5 /=9
LR 24.524.2 231,397.0 10.6%
EOIE 151,756.1 703,900.0 21.6%
obs 52,7504 621,900.0 8.5%
fut 4,568.1 446,249.0 1.0%
CH 44479 97,600.0 4.6%
Za} 26,2214 98,600.0 26.6% =5 3 8=4
2 70,800.0 0.0%
=Hf 485379 711,200.0 6.8%
TteHF 111,782.3 711,200.0 15.7%
o4F 17,804.9 162,215.0 11.0%
=T 23597.6 409,100.0 58%
R 51,796.5 409,100.0 12.7%
20 105,038.8 4374350 24.0%
z 804.2 13,276.0 6.1%
450l A 65,9%61.0 72,941.6 89.9% == 3 1=4
S0[H A 26,851.2 0.0%
EIHAM 75,6%6.0 222,993.0 33.9% = 3 5=4
LER[HA 17,3753 96,085.1 18.1%
uF 134,690.8 1,293,900.0 104%
WER 3431.8 131,800.0 2.6%
e 23,358.3 251,100.0 9.3%
AR 1,665.5 34,2604 4.9%
7ot 48900.0 346,761.0 14.1%
il 70,782.0 142,717.0 49.6% == 3 3=4
zT 38,026.2 499,207.0 76%
=g 198,933.9 754,400.0 264% == 3 9=4
uE 6,169 28,3570 21.6%
Atz 31,9%67.5 670,700.0 4.7%
b 47,269.6 237,300.0 19.9%
=30t 13,736.8 205,400.0 6.7%
@7 343,460.8 894,026.0 384% == 3 4=4
42 23,367.7 71,600.0 32.6% == 3 6=
2e 80.0 93,545.0 0.1%
o 1,148,004 8,008,800.0 14.3%
o+ 45,1016 648,431.0 7.0%
o3 2,582.1 19,700.0 13.1%
4 12,930.3 127,759.0 10.1%
SHAS) 26,754.3 157,300.0 17.0%
77| & 14147 13,900.0 53.3% =5 = 2zt
ol et 187,980.5 951,000.0 19.8%
s gt 32158 37,1056 8.7%
ol 54136 90,645.8 6.0%
= 17,094.1 80,506.1 21.2%
g 2438 5,9%6.1 4.1%
=8} 8571.7 73,396.5 11.7%
MeolE 0.2 14,8017 0.0%




[F5_#3] T2 E3E +UMTY HRE
534 TEERY B2/MA
Z2y £ EL. £ 2 [ sehEERe [ SeEERE EMZAD
(&) (H9) (E) (H9) (% =27|E) | (%=2%7]F)
2| 27] 00 00 3076180 15220040 0.00% 0.00%
=x| 17 00 00| 4832460 14449110 0.00% 0.00%
Eng] 00 00[  1161420]  213617.0 0.00% 0.00%
Uxt 45530 66050 1481890 1480950 3.07% 4.46%
gotE 15,580.0 12,1320 384120 352990 40.56% 34.37%
ops 405160 49,0360 78,6200 954820 51.53% 51.36%
ot} 17,8020 10,081.0 18,331.0 10,701.0 97.11% 94.21%
e 19,0040 214110 19,1140 21,5020 99.42% 9958%| 49 E= 3 629
Za} 1,406.0 699.0 1,456.0 8420 96.57% 83.02%
ol 226180 10,735.0 238710 11,2130 94.75% 95.74%
2o 6,189.0 1,9520 6,324.0 20160 97.87% 96.83%| 474 EZ F 1029
TtgH & 6,189.0 1,952.0 63240 20160 97.87% 96.83%| 4974 ES F 1029
AE 45960 36800 5,584.0 46050 82.31% 7991%
2 20,4430 7530 20,4430 75320 100.00% 10000%| 494 £2 5 129
teR 204430 75320 20,4430 75320 100.00% 10000%| 494 £2 5 129
20| 17,527.0 54950 21,390 98390 81.92% 55.85%
= 392730 43511.0 39,3800 437070 99.73% 9955%| 49 = & 729
L50[{4 94510 13,1020 94570 13,1620 99.94% 9954%|  49H E= 5 829
S0[H] 4 501.0 74380 5020 74510 99.80% 99.83%| 49 E= 3 429
ETH A 12,696.0 336070 12,6960 336100 100.00% 99.99%| 490 E= 5 329
CEf2|H A 00 00 00 W
1% 2057800 1626560]  2179010] 174530 94.44% 93.16%
A3 1,2420 901.0 1,2430 9040 99.92% 9967%| 49 E= 3 529
e 4720 671.0 637.0 947.0 74.10% 70.86%
1AL 36180 233320 36380 234730 99.45% 99.40%| 49 E= 5 929
270} 240710 27,6090 26,7450 30,5430 90.00% 90.39%
it 6,490.0 15,754.0 80980 236310 80.14% 66.67%
g 3240 604.0 49,1180] 1248610 0.66% 0.48%
] 00 00 450 161.0 0.00% 0.00%
Uz 00 00 1,941.0 1,691.0 0.00% 0.00%
Afz} 9.0 139.0 2490 6520 38.55% 21.32%
B 750 68.0 1250 150.0 60.00% 45.33%
2350} 2,059.0 1,990.0 45820 63420 44.94% 31.38%
=7 6,528.0 82040 92180 14,9120 70.82% 55.02%
Nz 3,760.0 25140 37720 26260 99.68% 95.73%
CE 6411.0 23550 533270 16,566.0 12.02% 14.22%
*é* 2662320 2329380]  5760310] 4412770 46.22% 52.79%
o= 1147380 846500 29917880 17321200 384% 48%%
Tz 284820 54,4371.0 32,0930 63.964.0 88.75% 85.11%
X 3,631.0 71,7060 819410 131,130 44.70% 54.68%
S (42 265570 336790 265510 336790 100.00% 10000%| 494 £2 5 229
FI|% 00 00 00 00
ol4t 910 28860 9.0 33000 95.79% 87.45%
ol 5} 20 260 1,686.0 74400 0.12% 0.35%
ol 00 30 17.0 195.0 0.00% 1.54%
i 875.0 57770 1,833.0 21,4970 47.74% 26.87%
S ES 00 00 1.0 260 0.00% 0.00%
23 1,368.0 1,199.0 14220 1,309.0 96.20% 91.60%
Mol 70 220 220 131.0 31.82% 16.79%




=258 710

Mol

271 27 7RRp]
Z2 AR us CHAIA 2/iE= LA 2Azn
(2kg) (kg (#kg (6H) (Hh)
22| 987 44% 56506 220 2%
sx| 27| 520 308 33796 171 165
S| 3319 2082 21005 163 174
At 1363 3 11413 375 03
£0jg 3406 7% 10494 449 207
ok 5198 1402 13869 370 165
ot} 647 64 667 245 044
oiz} 150 245 12847 650 025 9N 2= F 89
2 81 58 604 1% 1.3
ol 62 07 5%4 315 126
B 672 199 41 33 42
Tt 672 199 A1 33 164
AR 3738 433 %18 ) 147 PN E2 5 329
g2 767 26 408 37 190
e 767 26 408 3 206
20| 218 4% 552 4% 274 Pl E2 5 1059
z 64% 1812 12675 3% 260
2R50[B1A 323 1583 15804 204 208
£0[ui4l 127989 16966 169503 7% 7% N 22 5 529
FHA 30884 3023 30232 1319 13.19 PN E2 5 129
LERIbIA 21% X2 ojslg2 2A et
Ik 15205 3847 9150 3% 148
AIBA| 292 38 8305 816 181 PN E= B 49
s 89 1624 16978 051 049
AR %401 736 73684 2% 129 PN 2= 5 2w
o7a} 1358 1310 13042 104 104
up 2557 2772 3325 0@ 077
e 3818 1,189 29080 321 064
2t 1,111 40858 07 Az ojgtz BA e
e 787 079 AE 0|aE2 B4 M2t
Az} 36 1013 2903 363 049
o 239 463 13704 508 0% PN E2 3 929
250} 3045 938 15807 3% 0
| 5212 143 18474 363 28
Mz 3831 912 7950 420 361
CEl 209 40 348 050 059
& 1771 T4 8748 25 163
= 5546 8% 661.2 665 758 Yl 22 5 729
Bl 6,147 1762 22761 349 0682
Rl 17,1% 2437 18075 708 7% 9N 2= 5 69
S7M0H2) 46% 1448 14483 320 320

AE ojEEE 24 4at

Az o2 24 Y2t




5 A HE=2 XAFE | 0HA XFE
£29 Sl +2% Tz +25% | 32 3DNFE [ HAEE 7IE 2N}
(£) (£) (E) (E) (%) (%)
27| 00 9880 307,680 2,055.0 99.6% 212.3%
=2 17| 00 00] 4832460 147.0 100.0% 330.7%
k] 00 00[  116,1420] 124480 100.0% 158.3%
Uxt 45530 1010] 1481890 430 106.8% 324.0%
g0t 15,5800 00[ 384120 1,682.0 122.2% 152.5%
o5 405160 00[ 786200 1130 2715.9% 408%| 491 ES B 08¢
ot} 17,8020 720] 183310 7770 213.9% 212.8%
e 19,004.0 00[ 19,1140 120 236.6% 237.3%
2} 1,406.0 00 1,456.0 00 104.7% 104.9%
o) % 226180 00 238710 s 0
25 6,189.0 00 6,324.0 85740 119.8% 92.8%
7teulE 6,189.0 00 6,324.0 85740 108.3% 98.8%
NF 4,59%.0 00 55840 20 135.8% 1435%
L2 20,4430 860 204430 20120 169.1% 162.6%
teR 20,4430 860] 204430 20120 134.0% 130.8%
20] 17,527.0 40/ 21,390 450 124.0% 129.3%
= 392730 340 39,3800 925.0 16,726.7% 16345%| 490 E= 5 129
2L0|H{ A 94510 00 9457.0 1.0 146.5% 146.5%
£0[8] 4 501.0 20 502.0 18.0
EIHA 12,6960 90| 12690 2120 831.2% 8687% 494 E= 3 8¢
CEf2| b A 00 30 00 3,036.0 100.0% 62.8%
Ik 205,780.0 380 217,901.0 29230 2171.9% 2649%| 490 = 5 329
Al 25| 1,242.0 00 1,430 70 154.3% 154.0%
e 4720 00 637.0 340 101.7% 102.1%
DA 36180 00 36380 50 1,403.9% 14003%| 494 E= 5 629
270} 24,071.0 00, 267450 121.0 166.9% 174.0%
t 6,490.0 8,624.0 80980 11,2010 92.3% 83.8%
g 3240 00[ 49,1180 3230 101.6% 338.0%
S 00 30 450 5130 100.0% 99.7%
de 00 00 1,941.0 1,525.0 1000% 105.4%
At} 9.0 00 249.0 32060 1004% 86.4%
o 750 00 1250 20 100.1% 100.2%
230} 2,059.0 50 45820 1540 122.2% 147.8%
| 65280 380 92180 24030 109.8% 110.3%
Nz 3,760.0 00 3,720 200 146.1% 146.0%
CE] 64110 170] 533270 1520 1769.5% 130838%| 497} ES 3 429
o 2662320] 287360 5760310 36,1210 120.5% 167.1%
o< 1147380]  207600] 29917880 1028450 1144.2% R1904%| 491 E= F 789
e 284820 380 320930 20 1656.9% 18543%| 49 EZ 3 55¢
i 36,631.0 00] 819410 314.0 3903.8% 8576.3%| 490 E= 5 229
SHAY) 265570 00[ 265570 40 560.1% 5600%| 490 ES 3 9=¢
77| & 00 00 00 00 1000% 100.0%
ol4f 91.0 1350 9.0 7830 99.2% 87.0%
uy 3} 20 00 1,686.0 00 1000% 133.6%
Xl 00 10 17.0 23380 100.0% 86.1%
o 875.0 1,858.0 1,8330 20430 82.2% 96.2%
o= 00 00 1.0 00 1000% 100.7%
23 1,368.0 00 1,422.0 1,446.0 103.6% 99.9%
Meolz 70 00 220 2740 101.4% 48.1%

— 50




(£ 56 2 22 UMS
zoy S| WTOog “J?é’éi%“i &3 EFH_I _ ol 2l S77)
(MVAZE0l) | (MMAZZZE2Y) et EU FTA et 0] FTA
17| 18%30% 40% 40% 18%~72% 18%~40%
A2 18%30% 22.5% 25% 18%~30% 22.5%
E17| 18% 27% 18% 20% 18%~30% 18%~20%
UA 8% 30% % 304% 21%~304% 304%~455% T EEH Al 2l
EOIE 5% 45% 45% 45% 8% ~45% 8% ~45%
o5 27% 0% 0% 360% 360% 360% e I I
ot 27%50% 0% 135% 135% 135% T EE Al el
Cf xt 21%30% 4% 135% 21% 21% T EE Al 2l
aal 21%30% % 135% 21% 21% T "o Al 2l
etk 21%30% 20% 271%~30% 30%
=i 21% 21% 21% 21% 21%
teuF 21% 20% 21% 21% 21%
o4F 45% 45%
=T 271%"30% 45% 45% 30% 30%
s 21%30% 45% 45% 30% 30%
20| 21%30% 20% 45%
z 8% 30% 2% 420.8% e R I
ki 20%30% 405%
So[HA 20%30% 405%
franl Py 20%30% A%
SEf2[H A 30% 405%
aF 27%50% % 210% 210% 210% T EE Al 2l
A=A 21% 21% 21%
o4 21%"30% 21% 210% T EH Al 2l
DA 30% A%
a7t 8% 45% A% 887.4% T o Al 2l
= 30% 50% % 2194% T EE Al 2l
T 21%45% 45% 45% 45% 45%
T 30% 45% 45% 45% 45% 45%
dE 30%45% 45% 45% 45% 45%
Atz 45% 45% 45% 45% 45%
Hf 45% 45% 45% 45% 45%
=350} 45%50% 45% 30~45% 45%
7] 30%45% 45%
4z 20%30% A% 377.3% 371.3% T EEH Al 2l
Ha| 5% 30% A% 299.7% 269%~513% 269%~513% T o Al 2l
1 5% 8% A% 299.7% oA EE Al 2l
o 1.8% 5% 5% 487% 487% 487% T EE Al 2l
g3 5% 50% 40% 230.5% T EE Al 2l
o 40% 40% 630% 630% 630% e - R I
S 40% 54%
77| At 8% 18%
ol 8% 20% 2% 222.8% 2228%~T%3% | 2228%~7543% | #MEH Al 2l
o Bt 8% 25% %
o| 8% 25% %
=3 8% 25% F%
R 8% 25% %
ial 8% 25% F%
deld 8% %




[F5_H7] F2 E5Y dgd $US7HE(2009

4-20121H)

HEs= To7= Agd TeEE
==Y od g 2 | i g 39 =2 =% =Mz 5
() (H9)
417 0.0
x| 27| 0.0
G 0.0 ]
Ux 2982.3 3,764.3 22.3% 26.9%
EOIE 15,110.5 135480 0.2% -11.3%
obs 26,230.0 36,082.8 36.9% 31.2% 97 == 5 1029
Qfut 26025.3 12,635.5 18.2% 36.0%
CH =t 7957.3 14,855.0 52.7% 11.9%
Za} 892.0 4245 -11.3% -4.8%
23 16,1950 7,5733 198.7% 71.3% 9 £= T 59
=i 5388.5 1,919.5 157.0% 240.3% O == & 19
TteHF 5,388.5 1,9195 157.0% 240.3% O 2= 5 129
Y45 3,928.0 32530 72.4% 93.3% O == & 2x9
=T 13,4900 4929.3 62.2% 40.9% O == 5 8=
ER 134900 4929.3 62.2% 40.9% 4 == 5 8=
20| 16,611.3 4994.3 7.8% 16.8%
z 37,002.3 36,6066.5 30% 184%
2So[H A 7067.5 9,09%.5 6.9% 20.5%
Sols{A 521.5 7,938 6.3% 15.7%
FIHAM 11,0711.3 26,651.5 25.2% 37.6% 97 £= 5 9=
LER[HA 05 35 -100.0% -100.0%
uF 170,330.8 115,366.8 6.7% 10.3%
WER 1,160.0 797.0 436% 55.9% O == 5 79
oH 337.3 5118 11.2% 16.6%
AR 34798 22,0143 7.6% 56%
bl 2571340 24581.3 74% 232%
il 58%.8 14,489.5 3.0% 20.4%
xzr 281.5 498.5 2.5% 16.5%
e 00 0.0
Atz B3 1150 -21.8% -8.7/%
b 743 61.8 -26.6% -20.6%
=50} 1,966.0 1,833.0 7.6% 18.2%
=2 52740 6,207.5 36.2% 60.1% 9 == F 69
44 6,074.5 3,330.8 -30.8% -132%
2] 8,568.8 2,795.8 -37.8% -30.1%
o 172612.8 152,242.5 -2.1% -23.3%
o+ 165,327.5 116,450.0 -17.0% -84%
w3 29,1255 48,355.5 -1.9% 21.7%
2 29,708.0 56,038.3 54% 10.7%
SHA) 23921.8 31,169.0 -9.4% 3.1%
77| & 142.0 450.0
ol et 1145 2,689.0 -17.0% -1.7%
s gt 0.5 7.3
ol 45 16.3 8.7% 78.3% O == & 44
= 920.0 5851.0 -4.7% -1.6%
g 03 1.0 -100.0% -30.7%
=3t 1,080.8 1,298.8 182% 79.1% 7 £= 5 39
Meolg 413 41.3 -21.0% -16.9%




s ¢ s &% TSI(FHE
sg % i 3 oot
(5) 9) ) (19) = +EUSE
0.0 0.0 988.0 6,088.0 1.00 MEEES]
00 0.0 0.0 0.0
00 0.0 0.0 0.0
45530 6,605.0 101.0 770 -0.96 F0I1E35} okt
155800] 12,1320 0.0 00 -1.00 QIS5 ofjokst
405160,  49,036.0 00 00 -1.00 2Ixel S5} nj ket
17,8020, 100810 720 290 -0.99 oS8} okt
190040 214110 00 00 -1.00 20l E5} okt
1,406.0 699.0 0.0 00 -1.00 Mol ES} okst
26180] 107350 00 00 -1.00 el E s} nfeekst
6,189.0 1952.0 00 00 -1.00 20l E5} nfSotst
6,189.0 1,952.0 0.0 00 -1.00 QUML0IES] el
4590 36800 00 00 -1.00 eisel=a} ot
20,4430 75320 86.0 190 -0.99 FoIE38| ofst
204430 75320 8.0 19.0 09 FUEE T
175270 5490 40 440 -1.00 oIt oFst
392730]  43511.0 34.0 26.0 -1.00 +elSE ofst
94510/ 13,1020 00 00 -1.00 eirlE 5} ofet
501.0 74380 20 90 -0.99 +0lE3} njSotst
12,696.0 33,607.0 9.0 14.0 -1.00 TOlES} nfj kst
00 00 30 70 1.00 AMFEES] Zkst
205,780.0|  162,656.0 3.0 120.0 -1.00 T8t ofsf
1,242.0 901.0 0.0 00 -1.00 M0l E5} okst
4720 671.0 00 00 -1.00 eiElE s} ofgt
36180 233320 0.0 0.0 -1.00 eIt ofjorst
240710] 27,6090 00 00 -1.00 eisel=at ujpetst
64900 157540 86240 164790 0.14 +5E3| 215t
z5 3240 604.0 00 00 -1.00 2IFPelE5} nj ket
et 00 00 30 70 1.00 AMPEES} o 22k
o= 0.0 0.0 0.0 0.0
b2} 9.0 139.0 00 00 -1.00 2IxpolE5} ot
b 750 68.0 00 00 -1.00 2HRP0IE S} kst
250} 2,059.0 1,990.0 50 120 -1.00 £0|E3] o Sokst
£ 65280 82040 380 770 -099 F0lE35} ELT=
4z 37600 25140 00 00 -1.00 etel=at ujpetet
6,411.0 23550 17.0 83.0 -0.99 TOIE5} oks|
266,232.0 232,938.0 28,736.0 14,2350 -0.81 F0IE5} okt
114,738.0 84,650.0 20,760.0 33,057.0 -0.69 FUES| okst
284820  54437.0 3.0 40 -1.00 £0|E3} nfSoksf
36,631.0] 71,7060 0.0 20 -1.00 £0lE3} ookt
26557.0] 336790 00 00 -1.00 ekiselSat ofpotst
00 0.0 0.0 0.0
91.0 2886.0 135.0 422370 0.19 TEE3| st
20 26.0 0.0 00 -1.00 M0l ES} ofj ekt
00 30 1.0 4.0 1.00 +EE3| jezst
875.0 57770 1,858.0 12,878.0 0.36 TEE35| gt
00 0.0 0.0 0.0
1,368.0 1,199.0 0.0 00 -1.00 QUML0IES]
70 220 0.0 00 -1.00 MRl E5}




ES HA MCA(A| & | 1 2])
z20 | 239 =39 | 3439 . 9
= =) w9 Asd | w2l
Iy 988.0 20650 (M &) 188 1.75
HX|07| 00 1470| 555213656 0.00 0.00
=] 00 480 (9! Sop 00 00
FAIN] 101.0 430 4822760 1.07 09
EOIE 00 16820 0.00 0.00
o= 00 1130 0.00 0.00
ofm} 720 7770 041 0.3
off 00 120 0.00 0.00
%1} 00 00 - 1T 1T I 4
Qkuf 3 00 64110 000 0.00
=L e 00 85740 000 000
=t ES 00 85740 0.00 000
AF 00 20 0.00 000
=7 86.0 20120 006 005
A= 8.0 20120 005 006
20| 40 450 09 0P
o 30 P50 007 007
L 0[H A 00 1.0 000 000
£ole{ A 20 180 001 0.01
EOdA 90 2120 0.01 0.01
LERR|H AL 30 30360
ES 380 29230
Al 2X| 00 70
ko=l 00 340
PN 00 50
ITof 00 1210
iy 86240 11,201.0
zT 00 3230
=t 30 5130
= 00 15250
At} 00 32060
| 00 20
250} 50 1%4.0
7| 380 24080
P 00 20
Ha| 170 1520
N 28,7360 36,121.0
Es 20,7600 102,845.0
o= 380 20
ZHI 00 3140
S ) 00 40
7| Xt 00 00
ol At 136.0 7830
LKl 00 00
2| 1.0 23380 001 0.01
=t 1,8580 20430 351 325
o ES 00 00 0.00 000
=3} 00 14460 0.00 0.00
Aol &t 00 2740 000 000




[25_E10] 72 224 x9S+ ¥ XSZH I8
K|y S X|h N
==3 RS HIS PR IS MRS HIF =MZ1
(%) (%) (%)

417 052 6.38% 122%% 0%
x| 27| 088 17.1%% 33.14% 44%%
G 1.02 950% 1833% A%
LA 083 0.36% 0.6%% 1.31%
EOlE 1609 2.22% 4271% 052%
o= 068 0.77% 14%% 08%%
il 0.12 0.07% 0.13% 017%
C 040 0.06% 0.13% 027%
Za} 190 0.38% 0.74% 058%
2t 000 0.00% 0.00% 000%
= F 051 0.71% 1.37% 02%
TtSHlF 1.1 1.63% 315% 08%
o8F 0.76 0.26% 050% 021%
=T 058 0.34% 0.66% 042%
e AL 0.76% 1.46% 04%%
20| 1.2 1.53% 2%% 035%
z 042 001% 0.02% 00%%
YSo/HAM 6.32 0.96% 1.85% 005%
BT 000% 000% 000%
EIHA 084 1.11% 2.13% 024%
CEREIHAM 163 0.25% 04%% 002%
ks 0.78 1.97% 37%% 205%
AlgA| 019 0.05% 0.10% 0.06%
=8 05 0.34% 0.66% 02%%
AR 029 0.02% 0.05% 0.16%
o} 1.18 0.71% 1.38% 1.25%
g 1.57 1.08% 1.99% 122%
T 057 0.56% 1.07% 055%
T 1609 291% 560% 1.63%
uE 1% 009% 0.17% 020%
Atz 038 046% 08% 0.70%
Gl 125 0.6%% 1.33% 1.20%
=50t 034 020% 0.39% 0.27%
el 290 502% 967% 09%
44 252 0.34% 0.66% 031%
2e 004 0.00% 0.00% 007%
# 1.31 16.77% R.34% 65.84%
o+ 056 0.66% 1.27% 258%
o3 106 0.04% 007% 033%
S 059 01%% 0.36% 08%
SHAY) 1.30 0.39% 0.75% 256%
T7|& 328 0.11% 021% 005%
olat 1.37 2.15% 530% 142%
4 gt 054 0.05% 0.09% 001%
Zo| 042 0.08% 0.15% 001%
= 158 0.25% 048% 002%
M ES 015 0.00% 001% 000%
=zt 1.2 013% 0.24% 004%
Molzt 011 0.00% 0.00% 000%




olo

olo

olo

olo

olo

ojo

oo

0o

ojo

(tHE=)

Kk

ar

<l

=l

2M 2005H EZC2FH TUHNHFX

=4l
=
=i

A
el
Al A}
o

sth=
=4 of

ol il

El
?
9

<0 ko
Lo
<110

o
O
<r
4
[=]

=l

olod
AX AR

q]

x
(=]

(@]
I

2M 20044 T2 FE TUMNH S

ey

1

P2y

o+
Ho

oA
CElZ|HA

-

ol
ilof

PNE

]

o
2|

oA

T2

=




[R2_F12] £2 F5Y 12t MZE FTA LU
253 g4 | oMz | ds EU H= ZE H7l | Eaulor | AslEs | EFIA
s - s e 194
ZlnE] DDAOIE | A2 Mo | 15d ASG | H3RA | s Ase | mEex | N[ A | A
5% 27) 104 A2 Mo | s~f0d | tee | kT | wwex | ted EN
S| DDAOIE el Mol [10d~13d | 104 [od~12d | #dRA| 123 i E
2K 2 ppaols | BE7L 1 me | fedAse | 16w 54 | #asx 164
1/51:‘-‘?
EENEEE] 7d 7
= = . H N
ois(E2HES) | DDAOIE | Mo Mol | daRA | wasn | GO | #¥ex | d#¥sx | e | Ao
= L
yaldM/EE) | DDAOIE | Ao Mo | g | usd | GBS dasx | swsx | M9 | A
CEIRES 7d 74 ZE]
e ZN ZE]
e E () 0 B
EL e 5 5
T EA) 5 5
g%
B2 = 104
P22 102 104
20|
J_é|.
B0 A 5
0[s{t 5
B 5
EEEEE 5
DHMMYY) | DDAOIE | A Mo | g | sasd | SR wesx | swsx | A9 | A
NEA
e
AR
270}
gt
sy | AEEA | JOUVL | mel | AmEM | Az | AZEM | wgex | Az
T 124 124
s 124 124
- 6 04 | ge 09 | qmen | sus
smasEs) oA | SR a8 sasn | 5| wasn | wgen | Ae
TR He | TRl | me 04 | s¥ex | 24 | #IRA | ddRA | A
=50t E 10
: 6p E CE
27|(45) 08 | gomek | 99 | wanow | 5 | wiew | ERR | 6
15
M) 184 e
= 167 154 s ‘144 s sae
oH S M 513l 513l 513l
waieon | ooaole | BRI | ma | PR wasn | I | susn | Hess
2 ZE] 2E] EE 2E] ZE] ZE] ZE] EE Ao | A
0
ER
s = | 'lednx 154 S50 saHo
i porol | ST | me 182 e | ey | HERA | ssA
EEE]
1%
. | 167 e e BE | cwen | awme
ossyes | ooaolE | RN 1 ome | wwen | wwen || wgen | wgsx
EE;
Zl 5
]
A
EE
REE;




BE2(F5E B4 A9)

0|
&
B
a1
_ 3o o0
m Ko mﬁ
= K K
o 24 o %0 r
T EL T o |
hy 5 Tl I |
i @o = " wl
KU | o0 L uy <
5 & 2 okio R " il
. <k o KO ﬁﬁev <k " 100 =

ol 10! - iKE R - o

%ﬁ il oll | o] = X owwrxn oo of | & r= 3

o= = S| ar 1o B Sy | E= SR L

e | B |g|E S L2 s EE = B

K K o ~— = =

Wk W 44 o | 4 5 20 | wﬁ N o i o Eﬁou_.._ o m_v

_ o0 | U - (

sz B s Lz 1k IFEHEREIRE

oT. o < = 3 s . || 2 1o

o | B s R | ¥ oo % M ol | =8 PR T HEs oz | D w

1| H K . = o | — =8 | 1 = &

\QJ_M&FT <0 % 0| I U iy Ru | < | DM Tz | e S (| X

S | uy K 3l ko |51 Ko 3 R Fols? | iz | = TS oY | @ i
= 1o = — |~ o= E ol | R | W [ ool | | T |
K WE._ F o _u.“_A.._ o =) o |_..Ao = ﬂr_l_r A(|_u Wl e E._olm_, iod ~ | ok ._.F_.o% om = o
[US)! = - AR = < S - K ol ol=r | oF ol | < = | <t (g i
H0zikH | o= 5 o | X O I O s = Dol | ok | 0 = | & Pry | = | U s
B0 (\Xo.xl vnAnJ 00 A |3 @_w T =< ol o IH _ < qmﬂ ~ ._AWH w.&.H_ % %F/_.__._._._ MuDl._
| THF0N me._ ol o % =< - i el L _% FHsD | Uk ol %o E_m_._nw _50 7oo o
= | Moo | R o K- | o R W Bl | ool wod | o | K] = T gy &
o | i 11 £ o+ m K __LO_ =T | il i w_/% 300 | & | R’ =% | 1 4o -

—— - - - = it - | | o -5 [ 1ol K .|r
_MMW_M =i g _.amw n ol o | nj %w m.m R TS m_xox_o B ™ g mwr_n_o ST ol m.m__
oH 1 =S |5 = o I || do N o ol
at |t | %512 - I S T 3|5 R | e | S Ble| |m= e e I 2 R
w ) 15 N 2 I | K w. L E o

0 | qalo | | o | B S _ K E A E o % = W y E_mM IE | 3 o

oo | o | = || 2 X o] X Y Bl | R I | & | 3 s | RO | 2ma0 | @ T
Rz | 2o | 8 IS - S S i 1 a | e | o | MEIE e %
R, T aﬁm E_ﬁo & | = & 5 f [__ m___o KR 3 o | | & ; Jﬂﬂ | uozg a = o
o0 0 Ofmu| |90 | & i w N iy mi | ok N e < ) LAT = =
SREY R m_.7| w | A B D i =X 0| <o | g BEIERR ou_om% = _M_WA_._ ofl | ), | o2 gl

)R ~ | % E | s 1o o ! El X < VIR = = ol & | o EICH Il =3
%_Loo___wno O =5 |~ | H 4r W H W - s EX Y 171_M_J, =< [ 2| 20 Eﬂ o U g ey o NE
Rl | = | B | & oo " 2w o | & EO)W_ o1 5 <0\ | o | Mo | = = T | = e | o
KA | o =) I LU —s S ey ! S E T
ORoF| mO WS | < mr_@_ L] 0 = i En | = | ey o[JMo m ujr o Tod m_ogn qu LR o | % | a1 ir
T KR o | 02 | & wola " | = SN S| 2 Ho | = | = | 3 | =0 o | B o [ | E
RKIZ ol m K | =T 2 il — = | = P = | e R - | 51 mo | w0 | | 1o |
K ol _ ALY T M| <HT | =L T o o = |

mE K| 3 S| do | o]k r —| 2 0| 2o | okon [ <F | S| o | I
mObol) | Obr Ko | =g x| 3|5 o | 2% 145 IEIFAEAE A 20| Ol | < | o1 | | B
e R ALHE: B EEEEHEEE e
OborBd | o1y x| 3|8 o [N 1| S Ko | & | ok RAUORO | RO o | RO R org | I gy | e = || = R
o B | || & el e BTN AT 2|0 B | Ly | P HEEEAEE I I
o _ ™ | ol | N o | N =2 == = ) !

T | 2 OF | O | OF | 0 ~Ko [ K A - = NI F oo | of [N W | FH | B
T K 0 = — = E:l _ R R o0 | 20 | M
FR | | o RO | RO _x_/_lx_. > |7 g o3 @ __m_. e Ay | 20| 3
~ ol |.__.|/h_ or M ol ol == of MAro ok mll | <o |_No = |k i
ARR (AR | = |5 | b = | &5 o |2 0w SR | oF o
HEM | MR | X N el . U (mo | Zm || K Ki|oE

AW | 00 | N X — =3 - | N0 | ™o Edl == =) ol TN | =
RS s = K- s i =0 S| H =
K o E [ <
= R R R Hni_m_ O - A R R = &
= AN WIE = |z o | <0 ~ o |1
¥R |2 RELE % || O
ri o K |
H < E

— 58 —



o

MED

J
il

oM ! gt

N
01)1

MEZA

S| At e

<

S T(SEH) S04
o2 2ol =o

52 PAE7ATAZ 2
| Al olatsizion

=71 S2lE 89%)

Srholaiel 9]

DE S{MAM 25{HQ

v v Vo | Sy serma oy | TH BHSITRe MRS
7| HZ FTA 252 45% o
A 3 Vo V| V| SR TASE, S | w2 el s mR
7 2 ol.—4_|.A %
Ll v v % 7{71‘47'3@2‘\,( o.,(*ﬁ '5648% M= Aufesel 177% M7
- 7| A2 FTA sz 45% o
= VoL V|V | Sigue beras sorup | 1 e 726 15
~ 7 | ol.—_,_|.A % o
220} Vol v v R IATER B | = el 4o mR
FTA Si12Al 270% E szl
e VoLV V| bl e e | S EES A
oHZ= 3%t = R
O% & 00 = o o
X = illy |:|<1:>7<-|1 ._;ﬁl\ 2|Z|/ 4174 %K A|3 'I'l%_'_ét 0% 7.g'rr
KH T \/ \/ I|'|H|'| 7"‘7—|oo 7(.1311_ A HHD:M" | 80/07(40
& 2 7o(53 503 C AAERE w
DI‘ L \/ \/ FTA Ol-—.|4_M| % x| U E3 KEHOI' A‘I“’)
A = Jlzine loE= a7 | MF ARl 98T
o 2 VAR X Reheime] BT
S FTA 25512t 487% I
=) \/ \/ J|zizdme = '{%i' 335HH) M= ef A | 8% T
z FTA 2524 420% o Rl
¢ M ieiznE siohz= pesel) | O NS AT
ﬁ 7ot v MO Fof M2 Ml 13K R
Xt
wET ARRS, v v AN Fok M KH{EHme] 11987
X FTA 251244l 630% o
7é|" 77H \/ \/ 7}7—1737‘0"El1 _;|<_|Q||{§£. 7(I3HH) xn_'l:'j{ IHHH.”_W.EI 7%§'IT
£ v iz #jok M= Mujeiiel 8%
=7}h L SEKET 42%)
t J T2 MM 191(42%)
= 39 Hodii) 28300
% E(E3043H )
s =27} L S 28%)
o H= At 19(28%)
Ed 34 Nl gopE
(B 40484R )
7 7 FES= 224 | ofd TS Rt
S x| 27| TN FNFZ AT | 2N TSN Rich
5 17| 71N FoHET 168 | oMY JiEngd Agh




ol

7| A} 3

=
=

=

ir

}

3

1=

=

£} 3 RO

P RuE

a

H

—

A
L

i

Al

(=}
=
S

=

ir

P

3|

=

=

X|odL ofAof7} 25
e dTE

(E2 1734

(E2 2918

o
=

#|

24
=

i

o

7Y%
i

(E2 1.606H)

ol
KF
mr
=0

4

i

2

™~

(52 1.56)

(52 4164H)

(E2 1.84H)

i

Ttz FoHER 22u)

K2 1.45)

ol
KF
mr
%0
=0

H2d

4

™~

v

19

==

=y

7
ol

A

| Z=7Y

ik

ploN it
=X|F

5t

oFHR

oy

ol 7]

il

=)
K
fre)
N
il
<
=0
=
IS
Lo
_1_|_|
m,@
ol
ﬂ
mr
{0
RO
il
~N
> | >
~
(@]
©
o |~
£ R
K- | ™
s 3-Tl

=

=~

:._|

Kio

MH_H

KF

T

%0

=0

[\

™~

> | >

~>

O O
E

=

= |7
H

w43l

<k

e

F

— 60 —




WTO s WTCRI s ETY T SR A e
(MMAS (MMAZRZD) Mo 5E | sxeE
8% =52 2% =53
1 T A nE=Tar =Th A in ] Sfxinz
2 Abaf 2y AL E=g | o S
] =T = =T e
& o = - foce el |7
5 = i) EEl Exl =71
& EnHA = =2 o+ o= [ = —=HF =gk
7 =0ltA EIHA == B I ZHat [ S
8 R SRS EAED S EAE) e e = = Soie Eg=
9 =1 2 A= = DA o= o = o=
) =3 MEE EIHA 3 s o= Fhat= Fhadf=
1 o0 Yo0|HA S04 ST =g EOE =5 EL EL
2 EE Mj=EiTALRD |2 o= EOrs & e I OH A Frani=Try
2 | mH= CHE CHzF == DILAF [er 3 =
4 CHok i, e ) = e ) = O e P
15 [l Th oF= of= o=
=0] FhE= Fhas ER]
EOE zob Izof ThaHl=

a5

e 230
ZHRF Tles
=2 E0OE i HeE i Hatl

22 4z s o= EE i 7 B
z TtE= oh= EHf= Toiop EaHK Eady Enky ST | ==
24 Thad= ApTE ThaH= s B =0l A R ] E=1]
2 = =7] A - o= =o T E 2T ==
. ] B =2 B Ei El2iH A ZHafp == == Bl
a7 Zrxk =E ==0t =0|H4 L b ) it ) iz =E
2 = =Hi= p=Xul}| == =in e A Ptk EyHE ==
2 A= Fhati= =5 ThE=s EOf= o= o= A= =2=0b
30 oh= ==0f Z= [Ty 7= =T R EEEEE R EE
31 = = S0jHA ==0t CHIF =) = = T4

2 (== [ e = o RS == e e
EE == : = = =7 HHf= o= ] Ey ==
24 e = o =7 ZHEHiF == 2ok
35 =Er Tk MEfETARRD |22 A= ETE=T 27T 271 AR =T AR
El HEt 7 Sl SafizH el o e iz =3 = 2
37 === =004l BHgr = Fhadi= = =t = A=K = HY = EAga} Eo I=N=1
EE] o ZHEjD T = i) = 20 App DA = | == o - 2ok AlZR
35 = == = Einky Finky At B B Mai =T AkEDh E =T [ =277
40 chet s e T e S ; E 2 3o chEt A=A e EI e
41 Abp ARtk Ha 271X ! i {1 3} Bl 13 AbTk e e
42 2=0t = g IE o S = 3 o Eifn] 3z = =20k o= TE Bt
43 SRR F AL (2= HE LEr2it g Ak PRl F AR AR R (A AR A 2
44 AlE2E AEE 43z =5 HMEE B B o
45 EEES RETH EEnE] = EEl E g Wk EHES o= o= S
46 ot Ha e Zha = Hafl Finbl =TT TH EE =3 ST =
a7 Lo M E el AR Sa7 zE SEI = A PEr LAME SME AP
as [EET EEE BE ZFIF EvE FTIRF EEE == ErE FHS FHi=




